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Jadl IC (mm?) A(mm?) d(mm) Ad? In-A
1 120(15)3 _ 1800 | 45-7.5=37.5 | 2531250 2565000
12
= 33750
2 10(150)3 _ 1500 90-45=45 | 3037500 585000
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= 2812500
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Ok - (B415-105) 47.53 MPa( ki sts!)
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_ — 17.83 MPa ( .: 5o
PH= 18415 = 10°) @ (k)

5X10° « 120

Omax= 8415« 105) 71.3 MPa (bt sle!)
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Jedd) IC (inch®) | A(inch?) d(inch) Ad? In-a
1 6(2)3 . 2%6=12 | 7.92-1=6.92| 574.63 578.63
12 _

2(10 - =
2 (12) — 166.67 20| 7-6.08 =0.92 16.92 183.598

10(2)3 -1=
3 1(2) 6667 20 | 6.08-1=5.08 516.12 522.79
g saxal) 1285.02

Iy_4 = 1285.02in*
_ MYy 17.5%12%5.92

= 0.9675 Kip/in* 1000

on = 1285.026
= 967.5 psi (50
MYy 17.5%12+4.08
Ok = = = 0.6667Kip/in“ x 1000

~ s 1285.026
= 666.7psi (b= Aea)

O = M.Cax _ 17.5%12x7.92 ~1 294-Kip/i‘n2 « 1000 =

In_a 1285.026
=1294. 3psi (23 Aea))
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1 =3(1 + Ad%)

= 2] (025 m)(0020 m) + (025 m)(0.020 m) (0160 m)’|

+ H—z(o.ozo m)(0.300 m)?

= 301.3(107%) m*

Mc 22.5(10°) N - m(0.170 m)
a = — o = = 12.7 MPa Ans.
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